Mitre fence with sledge
Article number: 30-8627

Please read the entire instruction manual before using and save it for future use.
We apologise for any text or photo errors and any changes of technical data.

If you have any questions concerning technical problems please contact our
Customer Service Department.

Assembly

1. Place the angle guide (4) onto the sledge (3). Srew the locking lever (5) into the
threaded hole in the sledge.

2. Use 4x M6x16 screws (9) to mount the rail support (7) to two of the machine legs.
At this stage just tighten the screws with hand power only!

3. Place the rail (1) on two rail supports (7) and fit 2x M6x16 screws (8). At this stage
just tighten the screws by hand!

4. Remove the set screw M6x16 (6) and mount the sledge (3) onto the rail (1).
Remount the stop screw and tighten it.

5. Adjust the 4 screws (9) and the 2 screws
(8) so that the sledge (3) is parallel to
and at the same height as the carriage
table. Tighten the screws (8 & 9).

6. Fix the aluminium profile
of the angle guide (4)
with two coach bolts
and plastic nuts.

7. Make sure that the
sledge glides easily
on the rail. Do a
trial cut and check
adjustment.

Pt

Disposal
Follow local ordinances when disposing of this product. If you are unsure
about how to dispose of this product contact your municipality.

GREAT BRITAIN For consumer contact, please visit www.clasohlson. —
co.uk and click on customer service. INTERNET: www.clasohlson.co.uk CLAS OHLSON



Geringslinjal med slade
Artikelnummer: 30-8627

Lé&s igenom hela bruksanvisningen fére anvédndning och spara den sedan fér framtida
bruk.Vi reserverar oss for ev. text- och bildfel samt &ndringar av tekniska data.
Vid tekniska problem eller andra fragor, kontakta var kundtjanst.

Montering

1.

5

1

. Justera de 4 skruvarna (9) och

Placera vinkelanhallet (4) pa sladen (3), skruva i lasspaken (5) i det gdngade hélet
i sladen.

. Anvand 4st M6x16 skruvar (9) till att fasta linjalens fasten (7) pa tva av maskinens

ben. Dra bara at skruvarna med handkraft i detta lage!

. Placera linjalen (1) pa de tva fastena (7) och sétt i 2st M6x16 skruvar (8). Dra bara

at skruvarna med handkraft i detta lage!

. Ta bort stoppskruven M6x16 (6) och montera sladen (3) pa linjalen (1), satt tillbaka

stoppskruven och dra at.

de 2 skruvarna (8) s& att sladen
(3) blir parallell med och i samma
hojd som maskinens bord. Dra 4t
skruvarna (8 & 9).

Fast aluminiumprofilen
pa vinkelanhallet (4)
med tva vagnsbultar
och plastmuttrar.

Kontrollera att sladen
glider latt pa linjalen,
gor en provsagning
och kontrollera
installningen.

Avfallshantering

Nar du ska gora dig av med produkten ska detta ske enligt lokala foreskrifter.
Ar du osaker pa hur du ska ga tillvdga, kontakta din kommun.

SVERIGE » KUNDTJANST Tel: 0247/445 00, Fax: 0247/445 09 —
E-post: kundtjanst@clasohlson.se, internet: www.clasohlson.se CLAS OHLSON



Gj=relinjal med sleide
Artikkelnummer: 30-8627

Les naye igiennom hele bruksanvisningen og ta vare pa den til senere bruk.
Vi reserverer oss mot ev. tekst- og bildefeil, samt forandringer av tekniske data.
Ved tekniske problemer eller andre sparsmal, ta kontakt med vart kundesenter.

Montering
1. Plasser vinkelanholdet (4) pa sleden (3). Skru lasespaken (5) i det gjengede hullet
i sleden.

2. Bruk 4 stk. M6 x 16 skruer (9) til & feste linjalens feste (7) til to av maskinens bein.
| denne posisjonen dras skruene kun til med handkraft!

3. Plasser linjalen (1) pa de to festene (7) og sett i 2 stk. M6 x 16 skruer (8). | denne
posisjonen dras skruene kun til med handkraft!

4. Fjern stoppskruen M6 x 16 (6) og monter sleden (3) pa linjalen (1).
Sett s34 tilbake stoppskruen og dra til.

5. Juster de 4 skruene (9) og de 2 skruene
(8), slik at sleden (3) blir parallell med og
i samme hgyde som maskinens bord.
Dra til skruene (8 og 9).

6. Fest aluminiumsproflen
pa vinkelanholdet (4)
med to vognbolter og
plastmutre.

7. Kontroller at sleden
glir lett pa linjalen.
Foreta en provesaging
og sjekk innstillingen.

(S
—

Avfallshandtering

Nar du skal kvitte deg med produktet, skal dette skje i henhold til lokale forskrifter.
Er du usikker p& hvordan du gar fram, ta kontakt med lokale myndigheter.

N4
ad

NORGE - KUNDESENTER TEL: 23 21 40 00, FAX: 23 21 40 80
E-POST: kundesenter@clasohlson.no, INTERNETT: www.clasohlson.no CLAS OHLSON



Jiiriviivain ja kelkka
Tuotenumero: 30-8627

Lue kayttoohjeet ennen tuotteen kayttddnottoa. Sailyta kayttdohjeet tulevaa
tarvetta varten. Pidatdmme oikeuden teknisten tietojen muutoksiin. Emme vastaa
mahdollisista teksti- tai kuvavirheista. Jos laitteeseen tulee teknisia ongelmia, ota
yhteys myymalaéan tai asiakaspalveluun.

Asennus
1. Aseta kulmatuki (4) kelkkaan (3), ruuvaa lukitsinkahva (5) kelkan kierteiseen reikaan.

2. Kiinnita viivaimen kiinnikkeet (7) koneen kahteen jalkaan neljalla M6x16-ruuvilla
(9). Kirista tassa vaiheessa ruuvit kasin!

3. Aseta viivain (1) kahteen kiinnikkeeseen (7), kéytéa kahta M6x16-ruuvia (8). Kirista
téssé vaiheessa ruuvit kasin!

4. Irrota pyséaytysruuvi M6x16 (6) ja asenna kelkka (3) viivaimeen (1), laita
pyséaytysruuvi takaisin paikoilleen ja kirista.

5. S&ada nelja ruuvia (9) ja kaksi
ruuvia (8) siten, etta kelkka (3)
on samansuuntainen ja samalla
korkeudella kuin koneen poyta.
Kirista ruuvit (8 ja 9).

6. Kiinnita alumiiniprofiili
kulmatukeen (4)
kahdella lukkopultilla
ja muovimutterilla.

7. Varmista, etta kelkka
liukuu kevyesti
viivaimessa. Tee

koesahaus ja tarkasta ‘
saadot.

| =G

Kierratys
Kierrata tuote asianmukaisesti, kun poistat sen kaytdsta.
Ota yhteys kuntasi jateneuvontaan, mikéli olet epavarma.

SUOMI « ASIAKASPALVELU PUH: 020 111 2222, FAKSI: 020 111 2221
SAHKOPOSTI: info@clasohlson.fi, KOTISIVU: www.clasohlson.fi CLAS OHLSON



